Subject: Re: adding subset image into larger one
Posted by penteado on Wed, 24 Mar 2010 00:29:18 GMT

View Forum Message <> Reply to Message

On Mar 23, 9:22 pm, wlandsman <wlands...@gmail.com> wrote:
> Just to be sure -- if you are really breaking this into two lines (and
> | am not just seeing text wrapping) then you need a continuation

> symbol $
>
>
>

new_image = new_image[tr_point[0,a]:tr_point[0,a] $
+L-1,tr_point[1,a]:tr_point[1,a]+L-1] += temp_image

There is that, but there is also a more serious issue. It should be:

new_image[tr_point[0,a]:tr_point[0,a] $
+L-1,tr_point[1,a]:tr_point[1,a]+L-1] += temp_image

He had two assignments in one line.
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